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5. % W i 3 @vsl § &— 5. This question booklet is divided into

GUeg-37 09 @vS-T/

- FT-H ¥ 70 agire wT & 6

R @ fret 3s gwat @1 3o 3T
afard &1 35 woat @ sifm @
E?i’?ﬁwmmssaﬁg?waﬁ
1 e & g 1 o Fie 21
FH IR §7 & forg I IR
T OMR 3W-93% # Rw 77 T@l
fawea &t s / &1t qFT 9T T
g F OfFE Wt meEw &
WITAY/ TeT weref / ®E / g
afe &T OMR I~ TA& ® WaPT
FTAT 0T &, A=reT WIHT aRenT
HT=T FIT |

gz - T F 20 FIT AT E |
g=F & g 2 i iR 8, FFH
o fr=t 10 v F I A
sifard & | g3 Sk §9 @78
g ¢ 2 Fwda wT R m
g & Rrg s o iR &
o frt 3 WAl @ I A
srfrar &1

,%,—‘:ﬁmﬁsﬁa;ﬁ%%‘www 8.

'WWHTETH?I

two sections — Section-A and

Section-B.

In Section-A, there are
70 objfective type questions, oul

“of which any 35 questions are to

be answered. If more than
35 questions are answered, then
only first 35 will be evaluated.
Each que.stion carries 1 mark. For
answering these darken the circle
with blue / black ball pen against
the correct option on OMR Answer
Sheet provided to You. Do not use
whitener / liquid / blade / nail
etc. on OMR Answer Sheet,
otherwise the result will be
treated invalid.

. In Section - B, there are 20 short

answer type questions. Each
carrying 2 marks, oul of which
any 10 questions are to be
answered. Apart from these, there
are 6 long answer {type
questions, each carrying
5 marks, out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohibited.
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F | 119

@US - 3 / SECTION - A
IS "y / Objective Type Questions

T Rwr 18 70 w%mmérmwﬁawévw?ﬁfmﬁ#q#
Wﬁ#:mmgﬁwwﬁm#mﬁvﬁzwﬁﬁwaﬁfﬁﬁ?
35 vt #T 3T ¥ - : 35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct.
You have to mark Your selected option, on the OMR-Sheet. Answer any

35 questions. : 35x1 =235
I eGS0

(A) TFHTEWT S+ JyERE . (B) _ 3%yl % IU=N |

(C) ﬁzt{mu‘raqéamﬁ (D) AYAE F IvER |

What is the use of alpha-1-antitrypsin ?-

(A) In treatment of emphysema

(B) In treatment of asthma

(C) As insecticidal']:;rotein |

(D) In treatment of diabetes

frafefiaa § @ forg Rl gro Iffee ane &1 yadk g 2 2

(A)  TEGRHATH (B) R

(C) PCR (D) & T

Page 3 / 32
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[119].

Which of the following methods is used for the amplification of

nucleic acid ?

(A) Transformation (B) Transfection

(C) PCR (D)  Micropropagation
mpammm%mmmmma
TR ? |

(A) I pH B) & pH

(C) e pH (D) v ansfa R & pH

At what pH insecticidal protein synthesized by Bacillus
thuringiensis becomes active ?

(A) Acidic pH

(B) Alkaline pH

(C) Neutral pH

(D) First acidic then alkaline pH
rar % i gEph % W B A € ARG SR S
mgmwﬁmﬁﬁmmﬁmmw%?
Sraropsh (B) QTR

-

(A)

©) Rt Fich (D) iR
RNA interference is utilized to prevent nematode infestation in

tobacco plants. By which vector are nematode specific genes

introduced ?

(A) Bacteriophage (B) Retrovirus
(D) Agrobacterium

L —

(C) Escherichia coli
Page 4 [ 32
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STt e 6 e Rl wra o e wrh E o

{A] 20 (B) 15

€) 27 D) 5

How ieti {1
many varieties of Basmati rice are grown in India ?

(A) 20 B) 15

(C) 27 (D) s

_ﬁ'ﬂﬂ%{ﬁmﬁﬂﬂjéﬂ@ﬁﬁm.muﬂﬁtﬁwﬁﬁ%ﬂﬁm@
Gﬁ.@.?ﬁﬁ%ﬂﬁ%ﬁﬁﬁtmmﬁﬂhﬂ?ﬁ%?

(A) Toum @ e R (B) 39 s R
(C) Gﬁ.‘s_.q.!@ﬁ. . (D) Wl e wrater

Which of the following drganizations makes decision regarding the

validity of GM research and the safety of introducing GM

organisms ?

(A) ~Department of Science and chhnologj
(B) Department of ﬁiotechnology

(C) GEAC

(D) Indian Patent Office

a1 o fem A SEUE A TR 2

(A)  TifRafeeh! (B) st
() i@ il (D) SRR
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[119]

Name of Ramdeo Mishra is associated with which field of

research ?

(A)  Ecology (B) Biotechnology
(C)  Green revolution (D)  Genetics
8. Hwﬁmﬁmﬁﬁmwwm%?
(A)  B=HIRwEm . ® TSR
€) sffufera +iftmm (D) T-ReR S
HIV attacks on which of the following cells ?
(A) B-célls | _ {(B) T-cells
(C) Epithelial cell (D)  T-helper cell
o. v fiew @R e Tl &, g % Gww ael § W
HEAT B ? |
(A) @UEd (B) Themem
(C) = (D) erftfherya
Going down of inorganic water soluble nutrients into the soil
nutrients is called as .
(A) Fragmentation | (B) Leaching
(C) Catabolism (D)  Humification
10, ued i ¥ aruR A e fafve R 2 0
() 7 faferm | B) 15w
(C) 20-25 faferm - (D) 2 WfeEm
24 /A [ Xi1-5009-(36/40) Page 57_3-5
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12.

[119]

According to Robert May how much is the global spccics

diversity ?
(A) 7 million (B)  1-5 million
(C)  20-25 million (D) 2 million

WA i e fafyuan favm A $a 35 Afyga & fee sfee 2 2

(A)  2-4% (B) 81%

(©) 5% | (D) 9%

Biodiversity of India is what percentage of the total global species

diversity ?
A)  2-4% B 81%
C) 5% D) 9%

fawifan s f fasfre mofml % 200 @ fvs oifedt & fasim =

HIUT T o7 2
(A) GEfaear _ (B) Tl sfeat +1 smemor
c) fa Qe (D) 3maErdy Hfa

What was the reason for extinction of more than 200 species of

| Cichlid fish in Lake Victoria ?

(A) Co-extinction (B) Alien species invasion
(C) Overexploitation (D) Habitat loss
24 /A [ XI11-5009-36/40) Page 7 / 32

https://www.bsebstudy.com



[119]

Fr=ferfaa 4 @ N7 fvasd o =1 o T R ?

(A) e $99 =1 w@m (B) aNHEH

(C) wEEm faeae (D) it v g & Safa
Which of the following is not the reason for global warming ?
(A)  Use of fossil fuels |

(B) Deforestation

(C) Population explosion

(D) Improvement in the efficiency of energy use
Praferfas # @ B-u1 w0 dw AR F M A @A 2

(A) UBTHE R

(B) T 3vfie e & R

(C) waTaa 1 Afwad I7EN

(D) TR I A

Which of the following statements is incorrect about organic
farming ?
(A) Itis cyclic .
(B) Zc.ro waste is generated
(C) Maximum gtilization of resources
(D) | Use of chemical fertiiizers
24/ A/ X11-5009-(36/40) Page 8 / 32
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15.-

16.

17.

. (119]
R % aR A fefifige 3 @ o o sma 2 0 ~
(A)  TTTHET IR HEeaqe waieiT w2 |
@) N e Y A g A 7w e 2

(C) TN I W W

(D) RN TETS % Rt W H1 B 2

Which of the following statements is incorrect about temperature ?

() Temperature is the most important environmental factor
(B) Tempcrature decreases from the equator towards the pole -
(C) Temperature increases with increase in height

(D) Temperature is low at the summit of a mountain

qifsa Rdwt (32) B frwhm w0 =1 w9 e T@ g0 e 'R R
e A g ?

(a) = wR (B) &R wW

(€) W™ (D) ifRafos ®®

At which level is natural selection operated to evolve the desired
traits ?

(A) Individual level (B) Population level

(C) Community level (D) Ecosystem level

Tra g ¥ oy Rafe § FA-gd, F-am wE i g o & st
%1 i a9 9ed w0 4 8 @ 9 vl wwa @ & anfe

(A) T B) WWE
c fr D) IR R
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18.

" When percentage of individuals of prc-reproductivc,

(119

reproduc tive l.

and post-reproductive phase is in decreasing order in the age

pyramid of human population, it shows that population is

(A) Expanding (B) Decreasing
(C) Stable (D) Unstable
frafafaa & & 17 favwa § & TR FQA & ?
(A)  SEITd WEEPHE 9 Aoelt U §1E

(B) Tl
() vt @ wAurft
(D) il TF W

Which of the following reproduces once in a lifetime ?
(A)  Pacific salmon fish and bamboo

(B} Mammals

(C) Birds and mammals

(D) Litchi and mango

e & uig Freed: gaftm fadi & T1y-a1y @ &1 HRU 7497 47 2

19.
(A) Tt SrgEsH (B) FurtH fwee
(C) TSt (D) wgvifsar
24/A/X11-5009-36/40) Page 10 / 32
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20.

21.

22.

(119

What w : :
was the reason for co-existence of five closcly rclated specics

of warblers ?

(A) - Competitive exclusion (B) Resource partitioning
(C)  Parasitism (D) Commensalism
ﬁﬂ%ﬁ*ﬁﬂ%aﬁq—mqﬁmﬁhmmmm% ?
@) Fww B) - FeigfE

(C)  <hihY dey (D) dEg

Which . . '
ich of .the following plants produces poisonous cardiac

glycoside ?

(A) Cactus (B)  Calotropis

(C) Coffee plant (D) Tobacco

frerferfga & & R sues & ?

A) T (B) % T Ry

(C) a% Td Sary (D) e, Sfrary T ey

Which of the foll'owing are decomposers ?

(A) Fungi and algae (B) Fungi and virus

(C) Fungi and bacteria (D} Fungi, bacteria and virus

e 3 & @ Tt 3 forg i) e A E 2

(a)  Samp B) S

(C) pBR322 (D) &-SNT

Page 11 / 32
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Which of the following is not a cloning vector for bacteria ?

(A)  Bacteriophage (B) Plasmid
(C}  pBR322 (D) T-DNA
23. ﬁqﬁiﬁaﬁﬁﬁmﬁ&rﬁmmaﬁmﬁﬁmﬁmﬁ
@A e s 2 -
A)  TEEEA (B) E9T=IOT
(C) Wm (D) Q&I Ha:-Q9

Which of the following methods is used to inject recombinant DNA

into nucleus of animal cell directly ?

(A)  Transfection (B) Transformation
(C) Genegun (D) Microinjection
24. A & gumwT ¥ Fas $ Y A F Herfa w@ 2
(A) TIEESTEE (B) WSt
(C) ¥ (D) HRRAS
For isolation of DNA a fungus is treated with which enzyme ?
(A) Lysozyme (B) Cellulase
(C) DNase (D)  Chitinase
o5 fyefafaa § @ $99-pBR322 4 78 2 ?
(a) wfapfa i seafw (B) SR wE
©c) A& (D) wfefaes sfeddt s
24 /A [ XII-5009-(36/40) Page 12 / 32
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26.

27.

(119 ]

Which of the following is absent in pBR322 ?

(A)  Origin of replication (B)  Restriction site

If a foreign DNA is inserted in tetracycline resistant gene, the

recombinant plasmid
(A) Will lose ampicillin resistance
(B)  Will lose tetracycline resistance

(C)  Cloning would become easier

(D)  Ampicillin resistance will become stronger
frafefiga ° | frg Sfamy @ aorerht S g ww e amm 2 2
a) iR (B) uHd THFH
(C) HYAETE (D)  nfshawiRen

From which of the following bacteria, thermostable DNA

polymerase 1s isolated ?

(A) Agrobacterium (B) Thermus aquaticus

(C) Methanobacterium (D) Archaebactena

Ba,/a /X11-5009-36/40)
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28, Fefafea d @ @7 am S i Gvafia wa

(A)  TmRfFRiEm B) Iyerm yfafaia

(C) sEERRmT Hich D) nfhawifen

Which of the following bacteria synthesizes insecticidal protein 2
(A)  Agrobacterium (B)  Bacillus thuringiensis

(C)  Escherichia coli (D) Archaebacteria

29. Tr=fefaa & & S-w om Suoae ) shepla F M A s 2 2
(A) ST 1 wdfereft wiawla g
B) A i wfashy 1 ygw taEn dewe T 8
(C) wiepfer & forel oft mroreht & wftomeeq Jeafada g @
(D) <reae &t SHl wfeat w afasly waq g 2
Which of the following statements is incorrect about DNA
replication ?
(A} DNA replication is semi-conservative
(B) Main enzyme for DNA replication is DNA polymerasé
(C) Mutation appears due to error in replication
(D)  Replication on both strands of DNA is continuous
30. frafeafEa d 2 #1 TaEw TsEEmE SRCAT & AE ¥ IR @ ©
(A) ST, TR (B) AT Giefitr |
(C) RO AR 1 (D) I ettt 1
[ 24/A7XU 5009 wejsor] Page 14 / 32
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31.

32.

(119 ]

Which of the following enzymes is responsible for transcription of
ribosomal RNA ? |

(A} RNA polymerase (B) RNA polymerase 1

(C)  RNA polymerase II (D) RNA polymerase III

$9 IR 3 W g WG & A e st g0 B 21 0 e B Fw
HEd 3 ? | ‘

() Jrefem (B wERe

(C) urEhifys (D) fafwe

Some amino acids are coded by more than one codon. Such code is
known as

(A) unambiguous (B) degenerate/redundant

(C) universal | (D)  specific

& s 3 y < A e a2 2

(A) st AATRETEES w2 orEd

B) e % g e

() T A 5 e

(D) grEufHdie & FT qEH

What is the role of y gene in lac operon ?
(A) Codes for B-galactosidase

(B) Codes for permease

(C) Codes for repressor gene

(D) Codes for transacetylase |

24 / A [ X11-5009-(3s/40) Page 15 / 32
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(119
33, JUEh wum fpwd srem g i R 2
(A)  yitg fyem B) qereE® Wi fam
g Samwm (D) uEr fawma
Paleontological evidence is based on the study of
(A)  embryological development
(B) comparative anatomy
(C) fossils
(D)  divergent evolution
34. T &9 HEAN F1 g & 2
(A) 9Er fawm (B) P fawra
(C) THHTR fawmm (D) ®IeeyH
What do analogous structures show '—‘
(A) Divergent evolution (B) Convergent evolution
(C) Parallel evolution (D)  Saltation
a5, wrifaerfas qE-faEt 6 @ w5 g 2
(A) 18,000 94 @ (B) 10,000 34 qd
() 75,000 94 G@ (D) 40,000 3¢ g
When did pre historic cave art develop ?
(A) 18,000 years ago (B) 10,000 years ago
(C) 75,000 years ago (D} 40,000 years ago
[24/A7X11'5009 ceram] Page 16 / 32

https://www.bsebstudy.com



119 |
36. @ﬁa‘aﬁmﬁﬁmﬁwﬁmm%? l
N Tt s, B) e a
© Tt (D) feftm B,
Amount of whijch Vitamin increases after conversion of milk into
card ?
A Vitamin g, (B)  Vitamin A
(C)  Vitamin ¢ (D) Vitamin B,
37. ﬁw%f@aﬁ%%qﬂaﬁﬂmwmmﬁ%mﬁaﬁﬁmﬂﬁnﬁ
LEitsitor H @ f) o
@) SR B) R
(C) wfreirwrmy D) SRRew
Alexander Fleming discovered penicillin while working on which of
the following bacteria ?
{A)  Streptococcus (B} Acetobacter
(C)  Staphylococcus (D)  Lactobacillus
38. ferfafga & @ #1F FroRta % e« dwa 2 o
A) wWaww (B) WwE
(C) e | | D) Wi
Which of the following inhibits synthesis of cholesterol ?
(A) Protease (B)  Streptokinase
(C) Penicillin | (D)  Statin
— 24 / A/ XI1-5009-(36/40) Page 17 / 32
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39.

40.

41.

[119]
TG IR Y Hqul e w £ g B T FEQ &2
(A) s wedw (B) FgEIRRI
(C) YOl Herhar (D) g= yaud

Capacity to generate a whole plant from a plant cell is called as

(A) Tissue culture (B} Pluripotency

(C) Totipotency - (D) Micropropagation
e Prafefys wmed # 4 e = 2 2

(A) TR - B) =

© s @) T

Hisardale is a breed o'f which of the following animals ?
(A) Cow (B) Bulffalo

(C) Sheep (D) Chicken

frfafaa i @ fra adis & T @ dien A9 T gfaadt T e
forar o wr ?

A) IafEd g9 (B) q@%m
(C) THW (D) Sas G

Which of the following techniques was used to get yellow mosai

virus resistant mung lentil ?

(A) Mutation breeding (B) Introduction
(C) Hybridisation (D) Tissue culture
=
24 /A / X11-5009-(36/40) Page 18 / 32
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43.

44,

U F o )
i mm@sﬁmﬁ@%ﬁﬂimm*&mﬁ
C)  Imafm ay

fragments towards anode In
electrophoresis is DNA fragments be

ing
(A) Negatively charged

(B) Positively charged

(C)  Charged

(D) Charged with charges of both types
frfafes 4 & <9 M § w1 (aretas) an & fre Jaeert T & >

(A) TR (B) ¥ ¥

€ ¥= (D)  THeh ()

Which of the following is not responsible for vegetative propagation
of plants ?

(A)  Offset (B) Bulb

(C} Rhizome (D)  Gemmule

freffian @ F-T Fo 7w ¥ 2

A) ATt & e e & gaffesien s odffen wa d
@) w0 et @

o fegfom s, s fav & e g e

) st 3 e <. i 4 ¥

Page 19 / 32
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Which of the following statements is incorrect ?

(A)  Antheridia are present on antheridiophore of female thallus

of Marchantia
(B)  Chara is monoecious
(C) Diploid gene forms gamete after meiosis

(D) Zoospores are formed in Chlamydomonas

Praffad 3 @ frg Y FY ST T AGH HE T B P

&

() waFeh (B ¥4

(C) T (D) AT

Which of the following plants is referred to as ‘Terror of Bengal' ?
(A) Water hyacintﬁ (B) Bamboo

(C) Lantana (D) Parthenium
Freferias 3 ¥ A g oo F e T ® 2

(a)  SaefifEa B) drew

(C) W~ @) TS En

Which of the following is not a part of microsporangium ?
(A‘) Endothecium (B) Tapetum
(C) Epidermis (D) Micropyle

y@ﬁﬁﬁﬁﬁﬂ%ﬁﬁﬂhﬁ&ﬂ%%ﬁm%maﬂ
quieh o4 § ? -

(C) T e WY FfhT (D) @Y Y
24 A/ XII-5009-(36/40) Page 25735

https://www.bsebstudy.com



48.

49,

[119]

Which :
| of the following cells divides to form two male gametes in
angiospermic plant ?

(A} Vegetative cel] (B)  Generative cell

(C)  Microspore mother celj (D)  Microspore
Frefafes § @ 95 FE-T= A 7 q@ R ?

(A) B Hifywn | (B) 3T

(C)  itmarara Hifiwm (D) I TH=A
Which of the following is not associated with egg apparatus ?
(A} Synergid (B) Egg

(C) Antipodal cells (D)  Filiform apparatus
T & i H Yok (o) HY 1 FEd & 0

(o) yoTar (B)

(0 o smEm (D) yofra &

Scutellum present in the seeds of grass is called
(A) Endosperm (B) Cotyledon

(C) Seed coat (D) Embryonal axis

@Wwwmﬁ@@mmﬁmﬁ@m%@%
e 5 o, i e it et off dt 3 v s @ 2

(A) e (B) @@
()  Hqut e ) favaty Rt @1 faw
24 / A/ X11-5009-(36/40) Page 21 / 32
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S52.

(119

. nd true breedin
In a cross between truc breeding red flowered & g

. . . eration was pink
white flowered plants of Antirrhinum the F, &¢0 P

flowered which is an example of

(A) Dominance

(B) Codominance

(C) Incomplete dominance

(D)  Blending of contrasting forms of a character
frferfga & @ wiv wya sm & 2 |
(A) @t w1 Fuior $RE W 3

(B) W fafaes €d @

(C) =X A HWH Sl § §d 2

(D)  arefie &1 raw 3§ Gt g ?

Which of the follbwing statements is incorrect ?
(A) Characters are controlled by factors

(B) Factors are discrete

(C) In pea, factors are in pairs

(D)  Alleles blend with each other

Wad e o (1an 1 SR muw F @ 2

(A) el =1 gl T g

(B) TH YW F AT JUH T4 T I B
(C) el I a1 T & T §

(D)  FerHS 1 ¥ G T U TR A w6 w9 Y iReeg A

24/A/XH~5009-;35;40}
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S3.

54.

[119]
What is the Cytological basis of law of independent assortmen
(A)

t?
There is no blending of alleles

(B)  Alleles of a pair separate during gametc formation

(C)  Alleles may be
(D)  Pair of

dominant or recessive

chromosomes arrange themselves in  line
independent_ly in metaphase I
s 1 wrmEm frgia fred shaf fe o
(a) S (B) WA g A1y
(©) wwlA (D) &
Who propounded the chromosomal theory of inheritance ?
(A) Mendel (B)  Sutton and Boveri
(C) Morgan (D)  Henking
freferfiea # & 97 wPend fer @ 2 -
(A) 313 fagm (B) FEThe firgm
(C) R fagm (D)  Emrifern
Which of the following is not a chromosomal disorder ?
(A) Down's syndrome (B)  Klinefelter's syndrome
(C}  Turner's syndrome (D)  Haemophilia

e w1 x-forro faasda sfee R R »
(A) i fafesra wa tafae Safm
(B) =TS

(€) e v frd

(D)  Eicfl

24 /A [/ XII-5009-(36/40) nge 23 [/ 32

https://www.bsebstudy.com



56.

57.

[119]

Who provided X-ray diffraction data of DNA?

(A)  Maurice Wilkins & Rosalind Franklin

(B) Chargaff

(C) | Watson and Crick

(D) Holley

SRCALER TR

(A) STy 1 e e € @

B) Ty w1 sgafies veref dee 2

(C) ey 1 gty wed ARET B

(D) Ty 7 TEfRh o AT 2

What was the conclusion of Hershey and Chase experiment ?
(A) Genétic material of bacteria is DNA

(B} Genetic material of virus is DNA

(C) Genetic material of bacteria is RNA

(D) Genetic materal of virus is RNA |
frofafiga # @ 17 e W (2w k) @ R -
(A} UAG (B) UGA

(C) AUG (D)  UAA

Which of the following is not a termination codon ?

(A) UAG (B) UGA
(C) AUG (D) UAA
e
24 /A /XI1-5009-(36,40; Page 24 | 3
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58. T AT F v 1w ored 2 2
(A) Bl AT SR A SR 3 F g
(B) U AN 1 TIErEm & JgN
(C) WA & erE
(D)  HWEAT FT FITR
~ What is the meaning of chgrging of t-RNA ?
(A)  Linking of amino acid with cognate t-RNA
(B)  Attachment of -RNA with ribosome
(C) Translation of RNA
(D) Modification of RNA
s0. frefafeaa § & T swiEwE O 2 2
B T | (B) R
(C) W (D) EHES
Which of the following is a non-infectious disease ?
(A)  AIDS "~ (B) Malaria
(C) Cancer (D) Typhoid
o, frefufaa 8 A fea w6 RN S 6 @A, B 2
a) e (B) WRMEE
) =i (D) —wHNRE
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Which of the following blood cells is known as PMNL ?

(A)  Lymphocyte (B) Monocyte
(C)  Neutrophil (D)  Platelets
61. frfeRaa & ¥ frge wrear Hicivegs 3 2 8 7
(A) IgA B) IgG
€ M (D) IgD
Which of the following is abundantly found in colostrum ?
(A)  IeA | (B) IgG |
(C) IgM | (D) IgD
62. swufufedt wmh F @ 2 |
(&)  HIeT B W
(C) HferTEs (D) W%
What is diacetyl morphine ?
(A)  Codeine ~ (B) Heroin
(C) Cannabinoid (D) Coke
63. frer alem & few s gt & & 2
(A) wafEn | B) TTHIE
€ TH (D) =gt
Which fever is confirmed by Widal test ?
(A) Malaria (B) Typhoid
(C) AIDS (D)~ Pneumonia
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64. WM fFa e ¥ W, WO % e wd anferai fahfam At § 2
(A) 27E - (B) 3H®
€ 1w (D) 6MUE
After how many months of pregnancy, do limbs and digits of
embryo develop ?
(A) 2 months (B} 3 months
(C) 1 month (D) 6 months
65. Fmfeaa & ¥ & wilt wen ¥ Yo wfe s R 2
(A) W g B) wafie
(©) dYmfis (D)  rafies gew
Which of the following secretes large amount of progesterone ?
(A)  Graafian follicle (B) Corpus albicans
(C) Corpus luteum | (D} - Primary follicle

66. JvEE! % IvEE 7] fra R wg A R am R 2
A) ot fRlle (R ega) (B) I deaRrE

(C) i HIfdrenTd (D) ek &R (it SeR)
After ovulation the ovum is surrounded by a group of cells called
(A) Corona radiata (B} Zona pellucida
(C) Granulosa cells (D) Theca layer
67. Trfafea § & w1 FifE d@ & 2
(A) ST (B) Wil HeH
©) Fadrn e (D) I
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Which of the following cclis is haploid ?

(A) Oogonia . (B)  Primary oocyte
(C) Secondary oocyte (D) Zygote
68. T T mi P e, 9 hr-edree B, I FN L@ E 2
A) T @20 (B) I ELALLA
(C) @R (D) ferord @
A new contraceptive pill which is non-steroidal is referred as
(A) LNG 20 (B) Progestaset
(C) Saheli (D) Lippes loop
69. 2001 it JFET ¥ AR WA H TN G T T2 ?
A) 1-1% (B) 37%
(C) <N 2% | (D) 3%
What is the population growth rate of India as per 2001 census ?
A) 11% (B) 37%
(C) Approximately 2% (D) 3%
70. fiefRaa # @ +19 3. Tl gfw g A=E @ 2
(A) WS 375 (B) T @ 20
(€) forom g (D) FHR-A
Which of the following IUDs is hormone releasing ?
(A) Multiload 375 (B) - LNG-20
(C) Lippes loop D) CuT
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QYT - ¥ / SECTION - B

. Y I W Short Answer Type Questions
T 93T 13 20

. g IwT & | T 10 v & FAw ¥ 1 9w & U
ZWﬁEﬁﬁag: 10x2 =20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions.
Each question carries 2 marks :

L i onfmrsn 2 2

What is incomplete dominance ?

IR A 1 TR Tt AB T R i shr @ 02, @ =% daf & ohw &
7 B ? | 2

What would be the blood group of offspring, if the blood group of
mother is AB and blood group of father is O ?

3. gmﬁﬁﬁwﬁm,miﬁm@mmm%mmmﬁ
! |

. 2
male, female, mating and
consanguineous mating in human pedigree analysis.

4. WA SHAw R ¥ e . ¥ 2

10x2=20
2

Draw the symbols used for

What are the goals of Human Genome Project ?

5. swwifrn ¥ wR o wwla ¥ e (Rew) T mdEw o p

What is the relationship between thorns of Bougainvillea and
tendrils of Cucurbita ?

6 i it b Rl 3 T R gl (AR wate  fore B
YTl IAgHEt & ? 2

Name the different species of Plasmodium. Which species is
responsible for malignant malaria ?

7. umy 9fg T A wRet w1 v R 2

What are the factors which affect population growth ?
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AR ST B e Wl ‘
Explain parasitic adaptations.

9.  wifke weradt whven w2 2
What is cell mediated immunity ?

10. W@hﬂq-qw%aﬁtmmw%? 2
What is cyclosporin-A and what is its use ?

11.  wrfies o, R Searaear #01 & 2 2
What are the primary and secondary productivities ?

12, e g w2 | 2
What is Dobson unit ? |

13.  <IAT W w1 gum qu o H3 w9 € ? 2
How are DNA fragments separated and isolated ?

14, ELISA®T g ? | 2
What is ELISA ?

15. HWZ (MOET) ¥ ? 2
What is MOET ?

16. uﬁam@ﬁq\%ﬁaﬁ%ﬂmﬁmm%v 2
How is the name given to restriction endonucleasc‘s ?

17. =g oy gt 6 aE R 2
Describe the structure of micro-sporangium.

18. fg-F=m 6 smen X 2
Explain double fertilization.
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19. RIS ﬂmﬁmﬁm)mmﬁﬁm(mm)@
WWW(MW)wg? 2

What : .
are spermatogonia, primary spermatocytes and secondary
Spermatocytes ?

20, ity e s g o EETE R R
What are Contraceptive pills ? How do they function ?

e 39 v / Long Answer Type Questions

Ty wEqr 21§ 26 3 T wv & :&a?sw#%m%:mér%q

saia;ﬁaﬁw?fawa:mﬁwmowaﬁﬁaﬁaﬁm_ 3x5=15

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any

3 questions. Each question carries 5 marks. Give your answer in about
120 words.

21, S fafea 6 of-¥ wwoit £ smen w4
Explain the causes of biodiversity loss.
22. Prafafies w dtm foof foad
(A) TERRE T
B) wufie i

3x5=18§

5

2x25=5

Write short notes on the following :
(A) Phosphorus cycle
(B) Primary immunity.
23, fymfafiga o afiw feoaft ford - 2x2}=5
(A) T
(B) ST H THEHE T
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Write short notes on the following :

(A) Allergy

(B) Chemical composition of DNA.

ST S 5 s et 3 g 3 fer S € 2 °
How is gene of interest amplified by using PCR ? oy 2hms
Prrferfam st & s 3 - e

() T e s 3 e & e 813 2

(B) NG s % e st by st ¥ 8 2 -
Answer the following questions :

(A) Stability of DNA is higher than that of RNA. How ?

(B} "&u’hat are the roles of three parts of transcription unit ?
fr=fafigs w aftm Roft ford ' 2x23=5.
(A)  3Taau

(B) wWIwH (A

Write brief notes on the following :
(A) Implantation

(B) Autogamy.
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